

## **Tabulation of Bids**

Page 1 of 3

Contract ID: 20425 Counties: STATEWIDE

Letting Date: April 02, 2020 District(s): H4
Call Order: 425 Project(s): N/A

Contract Time: 05/31/21 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2020

Line No / Item ID Item Description		(1) IEW CONSTRUCTION GROUP, INC.		(2) MOUNT CONSTRUCTION CO., INC.		(3) AGATE CONSTRUCTION CO., INC.		
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		BRIDGE	Cat Alt S		Set: Cat A		It Member:	
0001	109006M	5,065,715.000	1.00000	5,065,715.00	1.00000	5,065,715.00	1.00000	5,065,715.00
FORCE	ACCOUNT	DOLL						
0002	152015P	1.000	0.01000	0.01	1,000.00000	1,000.00	1.00000	1.00
POLLUT	ION LIABILITY INSUI	RANCE DOLL						
0003	151006M	1.000	0.01000	0.01	1,000.00000	1,000.00	1.00000	1.00
	RMANCE BOND AND IT BOND	DOLL						
0004	MMG010M	14,400.000	1.00000	14,400.00	1.00000	14,400.00	1.00000	14,400.00
TELEPH	ONE SERVICE	DOLL						
0005	MMB172M	6,480.000	321.89000	2,085,847.20	471.00000	3,052,080.00	387.00000	2,507,760.00
LANE CI	OSURES	HOUR						
0006	MMB173M	40,000.000	1.00000	40,000.00	1.00000	40,000.00	1.00000	40,000.00
SOLID WASTE DISPOSAL DOLL								



## **Tabulation of Bids**

Page 2 of 3

Contract ID: 20425 Counties: STATEWIDE

Letting Date: April 02, 2020 District(s): H4
Call Order: 425 Project(s): N/A

Contract Time: 05/31/21 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2020

Line No / Item ID Item Description			(1) IEW CONSTRUCTION GROUP, INC.		(2) MOUNT CONSTRUCTION CO., INC.		(3) AGATE CONSTRUCTION CO., INC.	
Alt Set / Alt Member Quantity and Units		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 BRIDGE			Cat Alt Set:		Cat Alt Member:			
0007	MMB092M	2,957.000	105.00000	310,485.00	105.00000	310,485.00	105.00000	310,485.00
CREW C	OORDINATOR	HOUR						
8000	MMB022M	10,560.000	262.12000	2,767,987.20	290.00000	3,062,400.00	383.25000	4,047,120.00
REPAIR (	CATEGORY "A", MO	/ABLE HOUR						
0009	MMB024M	2,080.000	194.29000	404,123.20	240.00000	499,200.00	300.00000	624,000.00
REPAIR (	CATEGORY "B", MO\	/ABLE HOUR						
0010	MMB026M	6,336.000	264.88000	1,678,279.68	310.00000	1,964,160.00	315.00000	1,995,840.00
WELDING CREW HOUR								
0011	MMB142M	1,600.000	0.01000	16.00	50.00000	80,000.00	54.00000	86,400.00
MANPOV	VERED ACCESS MA	CHINE HOUR						
0012	MMB044M	2,112.000	231.00000	487,872.00	250.00000	528,000.00	400.00000	844,800.00
60' UNDERBRIDGE INSPECTION HOUR UNIT								



## **Tabulation of Bids**

Page 3 of 3

Contract ID: 20425 Counties: STATEWIDE

Letting Date: April 02, 2020 District(s): H4
Call Order: 425 Project(s): N/A

Contract Time: 05/31/21 COMPLETION DATE Min: Max:

Contract Description: MTN MVB & TUNNEL REP 2020

Line No / Item ID Item Description			CONSTRUCTION (2) MOUNT CONSTRUCT CO., INC.			(3) AGATE CONSTRUCTION CO., INC.	
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001		Cat Alt Set:		Cat A	Cat Alt Member:		
0013 MMG025M	250,000.000	1.00000	250,000.00	1.00000	250,000.00	1.00000	250,000.00
OVERTIME DIFFERENTIAL	(OD) DOLL						
Section Totals:		\$13,104,725.30		\$14,868,440.00		\$15,786,522.00	
Co	\$13,104,725.30			\$14,868,440.00		\$15,786,522.00	
Cost		\$13,104,725.30	,725.30 \$14,868,440.		15,786,522.00		

() indicates item is bid as Lump Sum



Vendor Ranking Page:

Call Order: 425 Contract ID: 20425 Counties: STATEWIDE

Letting Date: April 02, 2020 10:00 AM District(s): H4

Contract Time: 05/31/21 COMPLETION DATE

Contract Description: MTN MVB & TUNNEL REP 2020 Project(s): N/A

Rank	Vendor ID	/Name	Total Bid	Percent Of Low Bid
1	12943	IEW CONSTRUCTION GROUP, INC.	\$13,104,725.30	100.00%
2	M6816	MOUNT CONSTRUCTION CO., INC.	\$14,868,440.00	113.46%
3	A3063	AGATE CONSTRUCTION CO., INC.	\$15,786,522.00	120.46%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.